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202 044l 3,780 5,040 A 1,260
01 20t 3,780 5,040 A 1,260
OBEHY AREX 0yl
60,000 *3H 32 *73] 3,780
307 21201 A 194,000 18,000 176,000
02 YAFAANGFEX 194,000 18,000 176,000
Od=2JIsZJIUs =23 18,000, 000& 18,000
OsAJNY dAMHEXNRE A2HEH X
11,000, 000& 11,000
OZgd dEF=5X=EtE XI& 55,000,000 55,000
OFEUHLMESSH(LESEHAMAIL )X
110,000, 000& 110,000
HEHH 2¢ 249,243 0 249,243
101 14 Hl 45,743 0 45,743
04 DI 22 XRHEES 45,743 0 45,743
OFFHH 2 dgUH 45,743
-JlEs 60,2403 *3F 202 «9 & 32,530
=5 60,2403 »3H »38= 6,868
-AdRESFIHTE 60,2403 x3H 9 1,627
A2 J|22RE3 41,025,000 x11.5% 4,718
201 Lt 188,500 0 188,500
01 At 22l 141,200 0 141,200
O1.det=2Hl 27,400
—ZEEEMH 29 det=EHl 5,000,000& 5,000
-ZEEEMH E22 ME 10,000, 000& 10,000
—HEF2HEA EEE HH 10,000,000& 10,000
-ROUEA =8 200,000& »12& 2,400
O3.2d=¢ 65,800
-HEsE (VLY HEY) 100,000& *303| 3,000
-ZEEEMH NS08 2 HAE 62,800
LAelHE tge & 2
400,000& =63l 2,400
cEYEsn 29 250,000& *10F= 1004 & 25,000
FEELY 2¢ 1,000, 000& 42| 4,000
FEFHGAE 2 400,000& x 163l 6,400
HFUCeosd 24
250,000 «105=+5J1 & 23] 25,000
06.9xt= 48,000
-EFMH 2= 4,000,000& +x12& 48,000
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& LAl XE (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 3524l 17,300 0 17,300
O1.22222HMA 17,300
-FEMdHS2YE 3322 500,000& 500
-8 L SRS 200,000& = 12& 2,400
&= 1,000,000& x12& 12,000
-Gl AIE 2 200,000& = 12& 2,400
03 S AIS H H| 30,000 0 30,000
OFAF2HSH AL 30,000,000& 30,000
206 M = Hl 7,000 0 7,000
01 = bl 7,000 0 7,000
Oox4dsnNa2d MaHl 7,000,000& 7,000
301 dEtEAZ 8,000 0 8,000
11 IIEtE A2 8,000 0 8,000
OBEFMAOIG Ayl
20,000& *10H x5& 83| 8,000
HEEGE =4 173,500 0 173,500
201 Bt A | 50,500 0 50,500
01 AP 2t 2l Yl 45,500 0 45,500
03.2%8=Y 500
~HUEEAQCIHE OIOICI 22 AARE
100,000& x5H 500
O6. & X & 45,000
—HumYE A
1,500, 000& x5 A x12& *50% 45,000
03 At L I 5,000 0 5,000
OFdEaEIdCA A 5,000,000& 5,000
301 dEtE A= 3,000 0 3,000
11 IIEtE A2 3,000 0 3,000
OFEESQC]E Al&tZ 1,000,000& x3& 3,000
401 Al HIL 200 60,000 0 60,000
01 Al &bl 60,000 0 60,000
Oo4d|sadE &4 20,000,000& *3H 2~ 60,000
406 J|EF X201 A 60,000 0 60,000
01 JIEFAF20l & 60,000 0 60,000
OdzagE 852 20,000,000 *3H A 60,000
INMEE M EEYdoI2sS<EE> 60,000 0 60,000
& 30,000
Al 30,000
307 QI2t01 ™ 60,000 0 60,000
& 30,000
Al 30,000
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02 It M AHE L 60,000 0 60,000
OlA-1dEdMEgdoles 60,000,000& 60,000
= 30,000
Al 30,000
et I ZIN 2 RAHE X JA<E E> 74,765 0 74,765
< 33,984
Al 40,781
101 @124l 74,765 0 74,765
< 33,984
Al 40,781
4 JI2ZtHZ22HEE = 74,765 0 74,765
OUHSESSIN2HLIHE X 74,765,000 74,765
< 33,984
Al 40,781
NEssH 43t 1,790,464 1,435,576 354,888
= 297,500
Xl 976,000
< 142,320
Al 374,644
ArSI HH HIX & 42,464 51,976 29,512
201 Let24d] 8,704 8,416 288
01 At 22/l 8,704 8,416 288
O1.Let==ZH| 5,800
“AMEEEH LXelEFE =EHl 4,000,000 4,000
“ARIE DY EEAML 7O 10,000& =180 1,800
03.2g89=¢ 600
-NEEIIY H3 L DS WAL
150,000 x4 H 600
O5.=2 &l 2,304
“AMEIEBH ANLAZ R S A
8,000 2 =122 «12& 2,304
202 O4dl 2,160 2,160 0
01 = LH 4 Hi 2,160 2,160 0
OA2IZZ M FR=X 04
60,0003 x2H 3 63| 2,160
301 gt d= 1,600 1,400 200
09 SAEHIE &S 1,600 1,400 200
OANBIEIIY U HEZE UK IS AT
=4 8,000& x50 #43| 1,600
307 21201 A 30,000 30,000 0
11T AL SXAEE =X 30,000 30,000 0
OMEIEIIY SE4X& 30,000,000& 30,000
AMSIEIG Ll EESAE<ER> 1,200,000 948,000 252,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 900,000
< 90,000
Al 210,000
307 i+l & 1,200,000 948,000 252,000
X 900,000
< 90,000
Al 210,000
02 IZtE M AMHEE 1,200,000 948,000 252,000
OAMSIEIIY LRelEE ALY 1,200,000,000& 1,200,000
Xl 900,000
< 90,000
Al 210,000
APSI E DI AP OHEHI X & AR <2 2> 400,000 299,600 100,400
= 280,000
< 36,000
Al 84,000
307 21201 A 400,000 299,600 100,400
= 280,000
< 36,000
Al 84,000
02 B AAFEX 400,000 299,600 100,400
OAMEIEIIS AL IHEHIXI& ALY
400,000,000& 400,000
= 280,000
< 36,000
Al 84,000
MIEIY A EHZ X2 AS<EE> 73,000 86,000 A 13,000
Xl 51,000
< 6,570
Al 15,430
307 21201 A 73,000 86,000 213,000
Xl 51,000
< 6,570
Al 15,430
02 QB AAHEX 73,000 86,000 A 13,000
OMIAHIS MIABESXAAS
73,000,000& 73,000
Xl 51,000
< 6,570
Al 15,430
OrS01g SEMI<EER> 50,000 50,000 0
Xl 25,000
< 7,500
Al 17,500
307 21201 A 50,000 50,000 0
Xl 25,000
< 7,500
Al 17,500
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02 It M AHE L 50,000 50,000 0
ObIS2J1g SEAY 50,000,000& 50,000
Xl 25,000
< 7,500
Al 17,500
A EDY XIDESAH<E E> 25,000 0 25,000
= 17,500
< 2,250
Al 5,250
307 21201 A 25,000 0 25,000
= 17,500
< 2,250
Al 5,250
02 QIAFAAHEX 25,000 0 25,000
OAMIAEIY NDESAS 25,000,000 25,000
= 17,500
< 2,250
Al 5,250
AU X 1,867,530 2,258,545 A 391,015
Xl 269,123
< 107,563
Al 1,490,844
SE2Z2AE<E > 1,306,282 1,748,045 AN441,763
< 53,738
Al 1,252,544
101 1A dl 1,268,690 1,710,597 A 441,907
< 53,738
Al 1,214,952
04 JIZHHZ2XNHEE S 1,268,690 1,710,597 A 441,907
O3322 Mg elAt| 1,268,690, 000& 1,268,690
< 53,738
Al 1,214,952
201 L2l 6,152 6,008 144
01 At 22l 6,152 6,008 144
O1.€8t==EH| 5,000
—SEZ2ZAE et=ZH| 5,000,000& 5,000
O5.2 &l 1,152
—SE2ZAE AMZUAZ X =4
8,000& 18«12 «123] 1,152
202 044l 1,440 1,440 0
01 SLHOYI 1,440 1,440 0
OZ22Z2AY HEu=S 312 FAN
60,000 1% 32! 83| 1,440
206 M= Hl 30,000 30,000 0
01 MHZ 4l 30,000 30,000 0
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O3322AY Mz7e 30,000, 000& 30,000
NEESH LRl At <E 2> 561,248 510,500 50,748
Xl 269,123
< 53,825
Al 238,300
101 @124 dl 538,248 476,500 61,748
Xl 269,123
< 53,825
Al 215,300
04 JIZtHZ22HEE = 538,248 476,500 61,748
OXNdEsH LAl At 538,248,000 538,248
X 269,123
< 53,825
Al 215,300
201 £B-2%H| 3,000 4,000 A 1,000
01 At 22l 3,000 4,000 A 1,000
O1.Let==ZH| 3,000
-ANSBSHLAelArY b2
3,000,000& 3,000
206 M= Hl 20,000 30,000 A 10,000
01 =4l 20,000 30,000 A 10,000
OXNgZsHENelAtE e+
20,000,000& 20,000
2224 A S (M=EX/=S) 509,801 441,110 68,691
S 64,000
Al 445,801
& A28 B E 509,801 441,110 68,691
< 64,000
Al 445,801
SMER XE 289,801 231,110 58,691
201 £B-2d| 9,594 9,930 A 336
01 At 22l 9,594 9,930 A 336
O1.get==&Hl 4,000
“CE MK EANY et ZH| 2,000,000 2,000
-RE2ZX ZEW OME 25,0003 80 2,000
O3.2d=¢ 3,290
“CADEE s Y BALY
70,000& x11H *13] 770
SCANEAREOS Y BMaY
70,0003 x9F *43] 2,520
O5.2 &l 2,304
SDAMQHERYHR ALAZ R S4
8,000 2 =122 «12& 2,304
202 O4dl 1,800 2,700 A 900
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ool M L ARS ™A CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 2L I 1,800 2,700 A 900
O AMOAE H2F=X0H|
60,000& »2H 3 53| 1,800
301 Bt A= 2,080 1,960 120
09 SHAIAHI EAZ 2,080 1,960 120
OLSEAVEY 3o BAT SA
8,000 x70Y x23]| 1,120
OSAE BHIIZ ASUMso BAK 34
8,000 x30H x4 3| 960
307 2Iz2t0| A 276,327 210,800 65,527
02 QIZHA AAIE E X 124,000 103,000 21,000
OLsSXTEUHE, & S AMINE oA
1,000,000& x70H 70,000
ORYEIZZ A AFD| &2 A4
500,000& x20H 10,000
OLAMNCIE OIEHA XL /3s
500,000 x18H 9,000
OLAt HEX SOIS A5 23S
500,000 x18H 9,000
OBMEALLX HAMSX
9,000,000 *2JH & 18,000
OAELX A & DXI| AFE
8,000,000 *1JH & 8,000
03 QIZI X HAESIHIEX 144 527 100,000 44 527
OLAMNOEEOS MR= 29 144,527,000 144 /527
04 CIZ2tSHALALS B = 4,200 4,200 0
OARQ22 T 90t U HS 253 Al
2,625,000 «2JH 2~ +80/100 4,200
05 QIZtREZ 3,600 3,600 0
Oog=0z2zi F2Nsza 249
1,800,000 204 A~ 3,600
22 XA & 2= 2| 8 A = <2 £> 105,000 105,000 0
& 33,000
Al 72,000
307 gizto| & 105,000 105,000 0
& 33,000
Al 72,000
04 CIZ2tSHALALS B X 105,000 105,000 0
OZ22 X stots 2213 40,000,000 40,000
== 8,000
Al 32,000
O&EO Y J1¥ 22X &AL 25,000,000 25,000
& 5,000
Al 20,000
OZ2=2 X It M H=A 40,000,000 40,000
= 20,000
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o A8 L AIRE HF (9 ® =)
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| Al 20,000
LAY NSESIIER> 115,000 105,000 10,000
< 31,000
Al 84,000
307 gl2tol & 115,000 105,000 10,000
= 31,000
Al 84,000
02 PIZHEHAHE X 35,000 25,000 10,000
OL-sHELEARY 35,000, 000& 35,000
< 7,000
Al 28,000
05 RIZt2IE = 80,000 80,000 0
OL=eZ22Xagdy 24stArY
40,000,000 «2J4 2 80,000
< 24,000
Al 56,000
HUXISX2S (MY - SAID/0HXTL A ) 282,671 232,189 50,482
= 111,830
< 17,085
Al 153,756
HUXNSELNR—E 282,671 232,189 50,482
= 111,830
< 17,085
Al 153,756
OIHAXIAIE JHE 2 Ol X B2 113,891 64,039 49,852
201 Lt 10,651 10,799 A 148
01 At 22l 10,180 10,220 240
O1.Ler==&H| 7,300
-HHX ESAtE LEt=2H| 2,000,000& 2,000
-MUXESY AE2sS 822 M
2,500,000& 2,500
SIMRA R AEMA 20172
2,000& *3007H 22 1,200
SMMAKES AIZHA SFUH
1,600& *24 *1000 2 +5& 1,600
O5.2&Hl 2,880
“MHAMENUR HRFE AIZAZRL =4
8,000& 3H«10L «122 2,880
02 2324l 471 579 A 108
O1.332LHA 471
“ObA LMD MH2EAIE HES fER
1,960& 2001 &+ 123 471
202 O4dl 3,240 3,240 0
01 = LH 4 Hi 3,240 3,240 0
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CHUXISXRE (MY

- EAJIG /MU L TR E)

ol A II%@S:‘I}%”Q

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMNSMEHUHX YR2F=&0H|
60,000& *3H 3L *63] 3,240
403 XX SHS K20 & 100,000 50,000 50,000
02 2| 2SO UeHI=2X 2 EAS HI 100,000 50,000 50,000
OEANIA 22N 2X2 X
500,000 2000t +* 100,000
MNOISIHAANAEIMS (ZH])<EX> 139,780 139,650 130
= 111,830
= 8,385
Al 19,565
403 XX SHHM S X201 A 139,780 139,650 130
= 111,830
o= 8,385
Al 19,565
02 BI2SHUSXAN=2EAEAIS Y 139,780 139,650 130
OMOSIIAANAEINE XS ALS
241,000 *580 A CH 139,780
= 111,830
= 8,385
Al 19,565
MNBIESIAUEIISHD| (EIOIN2)ES MY (ZH)EX 29,000 28,500 500
>
& 8,700
Al 20,300
403 XX SHHS K20 & 29,000 28,500 500
& 8,700
Al 20,300
02 2I2SO USRS EAEAIS Y 29,000 28,500 500
OAMBISIHAUHEIISHD|(EIOINZ2) E2AHY
50,000& *580 Al CH 29,000
& 8,700
Al 20,300
HE ALY (LX2IBHM =S ) (IIEHIIEH 129,804 91,564 38,240
JlE&d| 129,804 91,564 38,240
SMN29| 10,404 8,164 2,240
201 Bt 10,404 8,164 2,240
01 AFR2 22| H| 9,924 7,684 2,240
OBNME&Y LBtxx=ZH| 4,740,000 4,740
OFNSY S| 2,016,000& 2,016
O=2AD| Xt 132,000 =20 x12& 3,168
02 B32%H| 480 480 0
OFN2Y 28322 480,000& 480
A=A Y| 113,400 79,200 34,200
202 044 113,400 79,200 34,200
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